Classroom Layout: https://ki.roomplanner.com/pp6por4nbl

Classroom Budget - \$1500

- Blickrylic Student Acrylic, Set of 6 Basic Colors
 - \circ \$32.50 6 = \$195
- Semi-Moist Watercolor Pans, Master Class Pack Assorted Colors
 - \$113.99
- Blick Watercolor Paper 15" x 22", White, Cold Press, Single Sheet
 \$0.51/each 200 = \$102.00
- Newsprint Sheets, 500 Sheet Ream, 9" x 12"
 - o **\$5.58**
- Blick Premium Construction Paper 9" x 12", assorted colors, 50 Sheets
 \$3.59/pkg 10 = \$35.90
- Crayola Large Paintbrush Variety Classpack Set of 36
 - \circ \$51.45/pkg 5 = \$257.25
- General's Solid Graphite Drawing Pencil Classroom Pack set of 144
 - \circ \$74.99/each 3 = \$224.97
- Derwent Battery-Operated Eraser Refill Pack of 30
 - \circ \$2.65/each 10 = \$26.50
- Blick Essentials Colored Pencil Classpack of 240 Assorted Colors
 - \circ \$39.99/each 3 = \$119.97
- Crayola Crayon Classpack Pack of 800, 8 Colors
 - \circ \$44.63/each 3 = \$133.89
- Blick Washable Glue 128oz, White
 - \circ \$13.95/each 2 = \$27.90
- Blick Washable Glue 8oz, White
 - \circ \$1.51/each 20 = \$30.20
- Fiskars Kids Scissors Pkg of 24 with Caddy, Blunt
 - \circ \$58.65 3 = \$175.95
- General's Solid Graphite Drawing Pencil Classroom Pack Set of 144
 - \circ \$74.99/each 3 = \$224.97

Total: \$1449.10*

*No tax calculated or shipping costs

Rules & Consequences

Ms. G's ART Rules

A - Anyone can be an artist

R - Respect your own art and others art

T - Think, Talk, Time

Other Reminders

- We come into the art room ready to create!
- Come in and sit on the carpet and wait!
- If you need to go to the bathroom, ask Ms. G for the pass. One person at a time!
- When leaving Ms. G's art room, line up at the door and be ready to go!
- Brushes are swished in water, not drowned to the bottom!
- Paint stays on the paper and brushes, not on our friends!
- Our art stays flat, not folded like a sandwich!

Clean-Up

WE TAKE TURNS AT THE SINK, 2 PEOPLE AT A TIME

- Brushes are rinsed in the sink and layed on the towel beside the sink
- Extra paint goes in the trash not down the drain
- Place wet art on the rack, started from the bottom and going up!
- Scissors, glue, crayons, and unused paper go back home!
- If you spill or splat or sploosh on accident, make sure it's cleaned off the table
- When you are done cleaning up, line up to leave :)

Consequences

- 1. 1 reminder of what should have been done
- 2. Privilege of getting your own supplies or cleaning up is taken away
- 3. Pause and talk, why do you keep acting like this?
- 4. Parent involvement

Helper Chart

Helper	Help	Helper	Help
	Time Keeper -When told by the teacher, help remind your friends it's time to start working and when it's time to stop and clean up!		Line Leader -Start the line when it is time to leave Ms. G's art room, your friends should all be behind you and ready to go!
	Super Supplier -Stand next to the supplies and help make sure your friends are going one at a time to pick up their supplies!		Caboose -You're at the finish line! Be the last person in line and make sure all your friends and ahead of you and ready to leave Ms. G's art room
	Class Pass -Help your teacher pass out other materials to your friends!		
	Sink Manager -Stand at the sink and make sure your friends are following Ms. G's rules about clean up		

*This would change everyday. Students would come into class and see if their name is on the chart. Names will be rotated so everyone gets a fair chance to do each Helper Job.

Long-Range Lesson Plans

August	Cool School • Decorating Binders • Decorating Pencil Pouches • Supply Come Alive!
September	Create With Nature • Animal Puppets • Finger Paint Flower Collage • Animal Masks
October	 Spooky Cookey Crafts Draw out your costume Monster maker White T-Shirt Ghosts
November	 Fantastic Fall Collage your dream thanksgiving meal Traveling Hand Turkeys Abstract Leaf Prints
December	 Winter Wonderland Paper snowflake making Snowman decorating Air dry clay cookie cutter ornament making
January	 Fantasy Fun Build Your Castle - Inside & Out Dragon Eyes Crown Making
February	Love Month Make Your Own Love Bug Valentines cards What Can a Heart Be?
March	March Artist Madness Mimic The Artist Mimic the Artist x2 Me In Famous Art

April	 Shapes And Lines Time Symmetry Butterflies Zentangles Abstract Shape Collage
May	 In Your Own World Create Your Own Planet Make Your Map Create Your Dream House
June	 All Together Now Friendship Collage Handprint Apron for Mrs.G